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8 4 Calculations of height of Packed Tower

7-13 Mass Balance
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7-15 Examples of Mass Balance
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7-16 The Basic Formula for Calculating the Packed Tower Height

7-14 Q dz
L-x+V(y+dy)=V-y+L(x+dx) = V-dy=L-dx



: dZ
EERE
yHdy  x+dx
7-14
=N,(Q-dz-a)
kmol-s*  kmol-m?.st  m’.mm?>-m?)

=V.dy (kmol-s?)

"~ N,-(Q-dZ-a)=V-dy

L dZ= v dy
N, -Q-a
\4 dy
NA=k (y_yl) = dZ= ’
y k,-a-Q y-vy,
V Y1 dy
= (V)
ky.a-QJ-yzy—yi
. Vv dy
N,=K,(y-y) = dz= :
Y K,-a-Q y-y
_ V J’Y1 dy (V)
Ky-a-Q 2y —y




L dx
kK.-a-Q x —x

s Ny=k (X -X) = dZ=

L X dX
= c
kx~a~Qszxi—x ©
; NA=KX(X*—X) —~ dz-— - . *dx
Kiy-a-Q X =X
L % dX
= . d
Kx-a-QIsz —X (@

7-17 Unit Height and Number of Mass Transfer Units
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7-18 Logarithmic Mean Driving Force Method for Calculating

the Units of Mass Transfer
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